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The domain of the function f(x)=

——— . where [x] denotes the greatest integer not

more than x. 1s
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Question Number : 3 Question Id : 4557343843 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Ha = \/ 7 2! J T4 .J 7 +...ntimes . then which one of the following is true?

a, :J7+.JT+J7+...H§P@ 20038, & \§od TOS* I DHSgSIN?
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Question Number : 4 Question Id : 4557343844 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

gcollegeduniaa

el



If A is a square matrix of order 3. and A2 + A+ 2I=0, then

Azg 35 6686 SHED Sr@E, $Hdasn A +A+21=0wona ©RYE

Options :
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Question Number : 5 Question Id : 4557343845 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If A 1s a square matrix of order 3. then consider the following statements
I: If|A|=0then|AdjA|=0

II: If|A|#0. then|A-l| =AM

Whuich of the above statements 1s/are true?

A 2.8 Sords $818 SHID Sr@&8 wond, §od PISTes HdKBotSod
I: JAl=0=008, |[AdjA|=0

II: |A]#0, 003, JA=|A
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Question Number : 6 Question Id : 4557343846 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

The system of equations x — 2y +32=5.2x—-2v+z=0.—=x + 2v—3z=6 has

x—2y+3z=5,2x-2y+z=0,-x+ 2y — 3z= 6 3080 5555

Options :
infmitely many solutions
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Question Number : 7 Question Id : 4557343847 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Question Number : 8 Question Id : 4557343848 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
z+1

If a point P denotes a complex number z=x + /v in the Argand plane and if :—+z 1s a purely

real number. then the locus of P 1s
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Question Number : 9 Question Id : 4557343849 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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73+87w+5 1@2 87+51low+ 73@3

If m1s a complex cube root of unity. then
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Question Number : 10 Question Id : 4557343850 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifze Cand iz> + 42 — =+ 4i = 0. then a complex root of this equation having minimum
magnitude 1is

ze C508050 i +422 — -+ 4i= 02008, & 3D88:5°08. EDRBrHSN EAAS 2.8 ;‘f}oﬁg
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Question Number : 11 Question Id : 4557343851 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If o, B are the roots of the equation 2 —4x + 5 = 0. then the quadratic equation whose roots
are o> + B and 0. + B2 is

v, _ e . S ) ;
o, fen x*—4x+ 5 =0 3EGwo BnE), Sreroond, o + f. 58050 o + B e
Sorerenm 008 $¢dE600

Options :
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, X +10x—34=0

Question Number : 12 Question Id : 4557343852 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

f(x) 1s a quadratic expression such that f(x) 1s negative when x € [—0'3.——— ] (3.%) and

-

positive when x € [— o 3 ] . 2(x) 1s another quadratic expression such that g(x) 1s negative

" 9
when x [ 3.—2—- ] and positive when x € R -[3.3} . Then the sign of f(x) g(x) in [0, 5] 1s
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Question Number : 13 Question Id : 4557343853 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifa, b, ce R be such that 4a + 2b + ¢ > 0 and ax2 + bx + ¢ = 0 has no real roots. then the
valueof (c+a)(c+b)1s

a. b ce R e 4a+2b+c>0adgiomr obwr, ax’ +bx +c =08 argSSureren
55008, (¢ +a) (c+ b) Hend

Options :
greater than ab

ab 08 J8». 3
1. J

less than be

bec 808 B80S

| ]

greater than ca

ca 808 Js’ogxé

less than ab + be + ca
ab + bc + ca 08 S8 5

Question Number : 14 Question Id : 4557343854 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The minimum degree of a polynomial equation with rational coefficients having

J§+E\E + 57 as two of its roots 1s
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Question Number : 15 Question Id : 4557343855 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If all the digits in the number 53426 are permuted mn all possible ways and are arranged in
decreasing order. then the number having rank 89. 1s

53426 Sopges” Mo ©0305N)08I v TS ITres” wddir SNS Sopgesd
238 iraEddns® ooy, 58 89 HOAS Sopg
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Question Number : 16 Question Id : 4557343856 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three parallel straight lines L,. L, and L; lie on the same plane. Consider 5 points on
L,. 7 points on L, and 9 points on L;. Then the maximum possible number of triangles
formed with vertices at these points. 1s

L. L,. Lye» 2,8 $0065°0 3 HS5r0sSE HEFdwen. L; ® 5dothdhen, L, 2 7 Hodoyew,
L; 2 9 HochPen &508008, & HohHhody domen sodbinm IAE @Hadne 1R
Howg
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Question Number : 17 Question Id : 4557343857 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If @ > 0 and the coefficient of ¥ in the expansion of | ax™ +— ] is 60. then ac® =
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Question Number : 18 Question Id : 4557343858 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3 3.5 3-5.7
IEx=

= i3 + +.... then 2x* + 5x =
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Question Number : 19 Question Id : 4557343859 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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3x% +1 Ax+B Cx+D Ex+F
It = 2 5 .thenA+C+E=

= -
(F+1)(x2+2) THL T2 (240)

3x2 +1 Ax+B Cx+D Ex+F :
= + + 5 €008, A+C+E=

('1'24-1)(1'2-%2)2 P+l £ +2 (.T:-l-:)-
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Question Number : 20 Question Id : 4557343860 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

(7 3 (7w x) 3siny+sin’ x
If tan‘ — = l:tan l—-%-—J.then = =
L3 2] 4 2 1+3sm” x
g s & % : 135i11x+si113x
tan| —+— |=tan" | —+— | asond —
2 3 s T
.4 2, 4. 2 1+ 3sm~ x
Options :
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, Sin 2y
3 :
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Question Number : 21 Question Id : 4557343861 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

(cos 252° — sin 126°) (cos 252° + sin 126°) (sin® 126° + sin” 186° + sin® 66°) =

[ ]
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Question Number : 22 Question Id : 4557343862 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If o, B, v are any three angles. then cosa+cosB—cosy—cos(a+B+7y)=

o, B, Yoo I35 Sk §oroond, coso+cosP—cosy—cos(@+P+7y)=

4cos Sin

a+pf . f+y . r+a
,"Bsmﬁﬁ‘ j

13
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¥ | 7 2
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a+ +y  7+a
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Question Number : 23 Question Id : 4557343863 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. ' - T ‘
The general solution of the equation \/ 3—Ssmx+sm x+cosx=018

-
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Question Number : 24 Question Id : 4557343864 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Consider the following statements

L Sin~ (_1'2 —4y+ n‘Ei)-i—Cc:)s—1 (j'z -4y +6) = %.\'f}‘ ER

I Sus.-c_l(jr2 —4‘1'+6)+C05ec_1(_1‘2 —4_1*+6) =§. VVYeR

Which of the above statement(s) 1s/are true?

Sod Padaored H0H8oS0

L Sin7'(y?—4y+6)+Cos7! (37 —4y+6)=2.7yeR

I S&=.-1t:_l(jn'3 —--‘ly+6)A}LCcr.f;;em:_l(J'2 —4y+6) =§. 7vER

D PISIB500S* 6/ RSg0?

Options :
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Neither I norII

4 Is=¢, I s

Question Number : 25 Question Id : 4557343865 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. > -7
If sec O cosh v = cosec x and cosec 8 sinh v = sec x, then smh-y =

sec @ cosh v = cosec x 58050 cosec Osinh v = sec ¥ =ond, sinh?y =

Options :

1.

L3

25
COS™X
COS X

.« 9
SHI™X

Question Number : 26 Question Id : 4557343866 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Consider the following statements:

L In triangle 4BC. ifc=6and cosC = j then R =

25 1J_
II. Intriangle ABC.1ifa=3.b=4.c=6.then ABC 1s acute angled triangle.

Which of the above statements 1s/are true?

£ 1508 IV HDHDoSo&:

' —31
L (&zheo ABC e . c=658050 cosC=—— =008, R=

25 -:J_

. |&gheo ABC S .a=3.b=4.c=6w003, A ABC 05080 |82has5T508.

P PSSToSt 6/ HE5507

Options :

only 1
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-
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only II
I Sovgads

L-2

BothIandII

I. 1120 Bodr

Neither I nor 11

I, I s=ch

Question Number : 27 Question Id : 4557343867 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A B &
_ _ cot— + cot —+cot —
In triangle 4BC.ifa=3.bh=4.c=6. then 2 2 -
cot A+cotB+cotC

A B C

_ ~ cot—+cot—+cot—

©zhzo ABCS®, a=3.b=4.c=6 ©won3, 2 2 2
cot4+cotB+cotC

—_—

Options :
13

, 61

169
61

12

61
169

]

61
4 13

Question Number : 28 Question Id : 4557343868 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the reciprocals of the lengths of the sides of a A ABC are in harmonic progression. then
its exradii 7. 7. 73 are in

2.8 AABC B0, ghare SEJo JgE) Soven oS SRRS” 08, 70 erirgS)E agrgren
Iy Tpe 1300 $50G8
Options :

Arithmetic progression

| ©OSER

Geometric progression
2@ R

=

Harmonic progression

oS $Ec

Arnthmetico-geometric progression

wodHoEs

Question Number : 29 Question Id : 4557343869 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If P and Q are two points on the curve y = 22 suchthat OP-7 =—1 and O0Q-7 =2 _then

the magnitude of (O_Q—-iaP) is

I_1+=2x+2 S0 .ﬁ_?:—l S538a50 ‘O_Q-}Tzz w@gtrtn Dok HotHen P Q en

408, ('OQ—-’@OP) BN H0STH

Options :

, 10

L2
—

4 100

Question Number : 30 Question Id : 4557343870 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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P and Q are points on the straight line passing through the point A( 34—k ) and parallel

to the vector 27 — 7 +2k .IfAP=AQ = 3. then the vector equation of the plane OPQ is

Dot A(3T+T—Kk) thomasr, 2T —j+2k $68% $5rodssnm &od S6¢3w
2065 PSodasn Q en HodhhPen. AP=AQ =3 wond, OPQ oo BnE), 387 8800

Options :
| T=(s+5t)7 +25/ +(1-3s)k

F=(37 4+ —k)+s(27 =7 +2k )+1(57 +k)

A

, T=(s+51)7 +2 +(5s+1)k

" F=(3t—s)7 +2sf +(1—-3s)k

Question Number : 31 Question Id : 4557343871 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let i be the unit vector orthogonal to the vector 7 — j +k and coplanar with the vectors

27+ 7 and j — k. Ifa=7—Fk .thenthe length of the perpendicular from the origin to the

plane 7 -m=a-m 18

36 'T—j +k H6%5 oo o, .2?+_7 So8030 }_'—l?e_) ge1065* &08 0HTrdES

m e

L

564 wKFomo. G=7 -k wonSHY, T-M=a-M $08 SHrodoHY 08 Ko
00 BN, FED

Options :
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7
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-
v

h
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Question Number : 32 Question Id : 4557343872 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

b+c

7

If @a.b.¢ are non-coplanar unit vectors such that 7 x(l? X F) = . then the angle

between @ and b 1s

b+c e - -
0 G3 NPT F.b.T o 25005 00 3HF000d8, a oS b o

s

5
-l
ol
L
9o
(B
L
e
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Question Number : 33 Question Id : 4557343873 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If @ and b are two unit vectors such that = (@ x 7 )+ . then the maximum value of I:fT b F:I 1S

a.b =3 Dok Srds $6fen c=(axc)+b s Goglotn &od, [Eb F] G308, K07 DD
Options
f it
1
, 2
3
¥ 4
i =
5
4. -

Question Number : 34 Question Id : 4557343874 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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@.[and7 are non zero vectors such that ‘ E‘ =|7|=1 and |@|=10. then

(@x(B+7))(B=7)(B-7)=

g.f 500n Fed &rdgss so¥en |B|=

¢

(@x(B+7))x(B=7)(B-7)=

7| =10 E'@JS&JE&Q &éﬁ}ﬁ

Options :

l.

)

4.

10

12

Question Number : 35 Question Id : 4557343875 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The arithmetic mean and standard deviation of a data of nine numbers are 13 and 5
respectively. If 3 1s included as the 10th item of the data. then the variance of the data of ten
numbers 1s

é‘imé;& QoPgen NS 2.8 G308 BE), ®OSHNELNDN 003N 1F0 DFOEH0O

—

SEBm 13 508050 5. € Sazoz s, 38 HES woFSur BT S HH Sopge SezoFSn
B0k, DS

Options :

1

[

4.

235

21.5

o
E
A

27

Question Number : 36 Question Id : 4557343876 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The variance of the following distribution 1s

& (508 Degradhn B I[E

tad
)
]
N
M
i
~J
|
]
O

Marks 1-
S "532; e
Number of students| 40 30 20 10

Options :

2
| -

12
—

Question Number : 37 Question Id : 4557343877 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A and B are two events such that P(A)=0.58. P(B)=0.32 and P(A m B)=0.28. Then the
probability that neither A nor B occurs 1s

P(A) = 0.58. P(B) = 0.32 580%» P(AnB) =0.28 ?:?CEJS&J@:_EFF A 580350 B 20 Bodh
HdrSen wond, A. Bees® o hé&éﬁ 2880k LS Hoerdgd

Options :

. 0.38

0.62

L-2

4 072

4 0.9

Question Number : 38 Question Id : 4557343878 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two dice are thrown sumultaneously. If A 1s event of getting the sum of the numbers on two
dice as greater than or equal to 8 and B 1s the event of getting a number less than or equal to

3 on atleast one of the die. Then ‘P( B/A)=

o) FHEOD IE5700S° IDBTH. & Tokh Frdfe Ird SMS Sopge Indgsw 8 B
wodEH) I8 S BBy HSH A, V0 ¥ FOED 3 B wodLod EB S IB)

S055 B &oFod, P(B/A)=

Options :

-

15

Question Number : 39 Question Id : 4557343879 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A bag contains 6 balls. If 4 balls are drawn at a time and all of them are found to be red. then
the probability that exactly 5 of the balls in the bag are red 1s

w8 J0DS* 6 woden Eof. 4 wodHoOB B EDHIHYE v wd) JG Soh Kodm

o

3R, & J0dS* wodHos® piHgor 5 woden JFID S5EIE Ho Jogrsdgd
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Question Number : 40 Question Id : 4557343880 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the probability distribution of a random variable X 1s given by
X=x; : 0 | 2 3

1 : 3K K
8 8 ‘

then the variance of X 1s

P(X=x;)

2.8 :;ﬁfd;}%rs' $00°8 X GOE) S0rd e «)eTresdad
X=x; - 0 1 2 3
P(X l 3 K K
X=x, 5% = s
% 8 8

wond, X Bng) IHE

Options :
¥
1. D

= | O

Lo

(N

L

-
= | vl

Question Number : 41 Question Id : 4557343881 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A manufacturer of locks knows that 2% of his product is defective. If he sells the locks in
boxes each with 100 locks and guarantees that not more than 2 locks will be defective ina
box. then the probability that a box will fail to meet the guaranteed quality 1s

FESN0MH SaSrd Bosn w8 Sg88, w&Ed GHES® 2% ST §90 Gonodd Bend.
2P 100 gm0 THYS 5B Do, DPL Dok 508 I8 STHH0E) eeren SodSI
TN wdd w8, af P FHS" B Teagdd ondidos” DPvo FIEIS o
Q0eTdg s

Options :
=
y =™

* 49 1]100—1'

ch’f[slo.] ‘50

. k=2 ‘

; 0.02

3 137

Question Number : 42 Question Id : 4557343882 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the locus of a point (2 cos 6—3.3smB—-4)1s

(2 cos -3, 3 sin 0—4) 5 DoH) B0E), HoKHE HaE80

Options :
 9x% +43% +54x+32y+181=0

) 437 4917 +54x+329+109=0
, 9xt +417 —54x+32y+109=0

) 9x” + 417 +54x 43274109 =0

Question Number : 43 Question Id : 4557343883 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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When the origin 1s shifted to the point (2. 3) and then the coordinate axes are rotated

x

through an angle & in the counter clockwise sense. then the transformed equation of

%= 19 3 ;
3x"+2xy+3y"—18x—-22y+50=0 18

/4
SroHoHH (2, 3) § 500, & Sogd esHEED 535 rdsESnesn E §'0065°

S0 TodhR, 31*3+21'_1*+3)'2—18.1‘—22'1--;-50:0 JdECw0 G30E) OraTross
HanEG0

Options :
7 o)
1 3" +3y"—1=0

(6+43)x% —23v+(6-43)»* -2=0

L-2

. 9
4x* +212 -1=0

(6—«.6).1‘3 +(6+\/§)_1'2 +2xy=0

4

Question Number : 44 Question Id : 4557343884 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A straight line L with negative slope passes through the point (1. 1) and cuts the positive
coordinate axes at the points A and B. If O is the origin. then the minimum value of
OA + OB as L varies. 1s

eanawééé e EOAS L o3 a8 3660 (1. 1) Dol MomdFdr $S508rds 570l
A.Bo 5¢ pod5os. 0 Sreododda, L $8d5x &h)dyd OA + OB Gng) 833 dend

Options :
1. 1

(]
2

L
aJ

Question Number : 45 Question Id : 4557343885 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the straight line L= 3x +4v—k =0 cuts the line segment joining the points P (2. —1) and

Q (1. 1) 1n the ratio 4:1. then the equation of the line parallel to the line y = x and concurrent
with the lines PQand L =01s

L=3x+4y—k=03¢€6250% drdod 36¢0p, P(2.—1) 550050 Q (1. 1) Dodkhrdess
972 DrpodSnd 4:1 ANGS® J&FR0DS, ¥y = x J6¢0n8 Jdrodbor Gobar, L=0
Hobosn PQ H3¢0pe & eiigidhy 0y Hsdno

Options :

| 2x=2y+7=0

» X—y+1=0
52— P—3=0
y=x+3

4 -
Question Number : 46 Question Id : 4557343886 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
.
The orthocentre and the centroid of AABC are (5. 8) and [ 3.— | respectively. The equation

of the side BC 1s x — v = 0. Given that the image of the orthocenne of a triangle with
respect to any side lies on the circumcircle of that triangle. then the diameter of the
circumeircle of AABC 1s

14
AABC § eo280(50, Soierdo 3&Hdm (5. 8). { ) gheso BC O8G0 x—1=0. 2.8
BeHadn Bns) IBT gHeo K)ry 0 w08 EEH00 & (BEhadn DY) HBS)EoD
0006 RINGAVE AABC Bng), HB5)8 a7gddw0

Options :

V10

!.-J
[
=
e
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Question Number : 47 Question Id : 4557343887 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a pair of perpendicular lines through the origin together with the straight line 2x + 3y =26
form an isosceles triangle then the area of that triangle (in sq. units) 1s

Sorefohd) HomFdr D500 onom 0B 2.8 D8N0, 2x+3y=658¢0ps’
500 Sodgerdn @ihaomr rrodd, o (Ghadrogo (Si ohrdLs”)

Options :

6

V13

L2
—
)

Question Number : 48 Question Id : 4557343888 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the equation 3x? + 7av + 217 + 2gx + 2 A + 2 = 0 represents a pair of intersecting lines

9
and the square of the distance of their point of intersection from the origin is — then

fi+g’=

-

30+ 7y 4237 +2gx + 2+ 2 =0 @3 508620 PoBoHED SE¢3yroRom) Srd R,

QFOHOMY) DO T POBY DoMYH o GG B3NS P

w2

?foanéé;?cﬁo

2 2

g =
Options :
25

1 4
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Question Number : 49 Question Id : 4557343889 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

From a point P (0. b) two tangents are drawn to the circle x2 + v* = 16 and these two
tangents intersect x-axis at two points A and B. If the area of triangle APAB 1s minimum.
then the equation of its circumcircle 1s

P (0.b) Dot $508, x%+17 =16 5)=08 2 H5)50pen HoHwdSd So0030 & HEOPpen
x-25d) A. BHohIe 58 podiamjon. APAB @), Irogo §0:30 ©ond, ord) 205)4
SHEE 1AV

Options :
) 9

L X2 4y?=16\2
7 )

s XT+y =64
g

3 X +y =32

i +jr2 =442

Question Number : 50 Question Id : 4557343890 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the angle between the tangents drawn to the circle X4 .1'3 —12x—16v =0 at the points
where the line 5y = 5x + & cut the circle 1s 60°, then the value of & 1s

-1~2+.1-3—121‘—16_1‘=0 S)E@) 5y =5x+ k0 pokoB DodhHe ¢ AAS HEoe

==

5658050 60° o8, k Jend
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Question Number : 51 Question Id : 4557343891 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a circle S with radius 5 touches the circle. 2+ .1-'3 —6x—4yv—12=0 at(-1.-1) then the

length of the tangent from the centre of the circle S to the given circle 1s

S argirgSom o 2.8 5)%0 S, y? + 97 —6x—41y—12=0 =3 =) (-1.-1) ¢ JPFR,
S)ydo S BnE), BoBHn Hr0d &8 5)E:08 ADS NGow SdI

Question Number : 52 Question Id : 4557343892 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a circle S passing through the point (3. 4) cuts the circle x> + > = 36 orthogonally. then
the locus of the centre of S 1s

(3. 4) Do>) HoTFSH S w3 &8 JyEsn, a7 +)7 =36 KA LoaPBHBN BH08, S
P08, SoiH HoBHBEDM

Options :
7 3
xX“+y" —6x—-8y+11=0

1.
, 6x+8y—61=0

5 X +_1'2-8.1'-6_1'+ll=0

4 6.1'"‘8]*""11:0
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Question Number : 53 Question Id : 4557343893 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2 ; 9 . ]
The lime x— 2 =0 cuts the circle x™ 4+ v~ —8x—2v+8 =0 at A and B. The equation of the
circle passing through the points A and B and having least radius 1s

x—2=036¢0p S5sS5 2+ —8x—2y+8=0 % A. B oo poddFod.
A. B Hothyo hHod F&r 803 argarddn SOAS aygan BEG00

Options :

,}
X+ _1‘2 —4x+2y—-1=0

9 %
x'+y " —4x-2y=0

-2

2 g

4 T A 2yv+1=0
2 2

4 X +y —4x+4y=0

Question Number : 54 Question Id : 4557343894 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a perpendicular drawn through the vertex O of the parabola 2= 4ax to any of its tangent
meets the tangent at N and the parabola at M. then ON.OM =

I

9 a2 s <o
V- =4ax oo B8 3do O Hom o°d BnE), B G0 HDS a8 ooo, &

2\ G0DH N 5§ So805» Hordecsird) MSE podd, «dyE> ON-OM=

Options :
)
1 4a-

342

1

Question Number : 55 Question Id : 4557343895 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Let o, and o, be the ordinates of two points A and B on a parabola 1> =4ax and let o, be the
ordinate of the point of intersection of its tangents at A and B. Then o.,—0.,=

12 =4ax HorSe0HoD K Bodk HotHHen A.Be DNE) Y-VErHsTeD o, O, 3OS 0TF0.
A.Bo 38 ord8 A0S 5)50pe »ods Hok BuE), 1-06rdse 0 95800, wHYdd 03—0,=

Options :

W

, O3 ™0y

Question Number : 56 Question Id : 4557343896 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equations of the latus recta of the ellipse 19 2+ 4‘1-2 —18x—8y—23=0 are

5%55&3:530 0> -{»4_1;.-2 —18x—8y—23=0 ®BnE), THoowre JEdren

Options :

{ x=—li\/§
y=1+5
x=li2i§

3. -

4 ¥=2145

12

Question Number : 57 Question Id : 4557343897 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the tangent to the ellipse 43> + 912 = 36 at the end of the latus rectum lying
in the second quadrant. 1s

457 + 9y* = 36 @3 HES)08 VoBSFE0S* 408 THOOWO DY), BoSgNOKYH I

B ;ﬁgcijézp Hangdo

Options : .
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—

J5x—31+1=0

. .1'—3_1‘+\E =0

I-J

V5x-3v+3=0

4 VS5x=3v+9=0

Question Number : 58 Question Id : 4557343898 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
If the product of the lengths of the perpendiculars from any point on the hyperbola

16x* — 25v° = 400 to its asymptotes is p and the angle between the two asymptotes is 6

then p tan—=

oJ

9

8 L — [ a- ' -
16x° — 251" =400 &3 9850750050 BT Do) $r08 o0 wod NGBS D

. &
©0ere FEHO 00 p LHEr & Dok o 9GP s 00 Bvond, p tan— =

Options :

400
, 41

320

41

L2

t_hl_h

(B
N

[y
(9

Question Number : 59 Question Id : 4557343899 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A(3.2.-1).B(4.1.1).C(6.2.5) and D(3. 3. 3) are four pomts. G,. G,. G; and G, respectively
are the centroids of the triangles BCD. CDA. DAB and ABC. The point of concurrence of
the lines AG,. BG,. CG; and DG, is

A(3.2.-1). B(4. 1. 1). C(6. 2. 5) 508050 D(3. 3. 3) e arentd Hodbhen. Gy. Gy Gy
0oin Gyen SHdm BCD. CDA. DAB S5:005» ABC @ghadne So|Berdsnen ®oxnd,
AG,. BG,. CG; 58050 DG,0pe @5hs H085HH

Options :

- (4.2,2)

)
—
2
(o
#
-’

-
(]
-~
-

Question Number : 60 Question Id : 4557343900 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The acute angle between the lines whose direction cosines are given by the equations
[+m+n=0and 2im+2In—mn=01s

005 £OAS

(L
- -

I+m+n=0580%0 2im+2In—mn=035880 o%o" oS 68 §
Ope NGy Ao =enf'wo

Options :

=
N

Question Number : 61 Question Id : 4557343901 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

el



A variable plane passes through a fixed point (¢, B, ¥) and meets the coordinate axes in A. B
and C. Let P,. P, and P; be the planes passing through A. B. C and parallel to the coordinate
planes YZ. ZX. XY respectively. Then the locus of the point of intersection of the planes
P..P,and P, is

S8 &) w8 oo (o, B, ¥) @3 J8DoHY HomFdr Hsrdsgos A, B, C o
P0o&N086. Py Py P30k 363m A, B.Co homadrdr, YZ,ZX, XY deros Jdroddon

608 dorofsioaro. wHyd P P, Pydore podd Dok BnE), HokHgo

Options :
 ax+ fy+yz=

:‘f
E._]_é.;..’_. =1
x ¥y =

L2

2 2
ax® + By +yz"=1

(5]

apx+ Pyy+ayz=1

Question Number : 62 Question Id : 4557343902 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

, 14+ cos2x
lim = —
x_% c»:;}tj’m;(.ilsm‘Jr -l)

Options :

|
1 3log9

2

3log3

L-2

Question Number : 63 Question Id : 4557343903 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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p \ ¢ B
- —nk 1 ) ] - -
lim »n™" {(u+1)tn+;][n+—zj,..[ n+m} -

n— oo L )

Question Number : 64 Question Id : 4557343904 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a and b6 (a > b) are pomts of discontinuity of the function

3—2x . for
2x+3 . for
f(x)=42+2-3x . for
2x-3 . for
] |1| . for

then 3a—b=

a.b (a>b)e», f(x)=42x°

©3 Boho BNE HNG) DotHHen wond, 3a-b=

Options :

| 3

2.7

0

X=s
D<x <

—

A
-
(R

R

2 =
I

-

I/

W =
A
(V)

=235

-

el
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Question Number : 65 Question Id : 4557343905 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

For—-1<x<l1.1f f(x)=cos?‘

Tan'lJi:x then / (x) =
| 3

1<x<18, f(x)=cos?| Tan™

wond, f(x)=

Options :

b | =

-2
[y—

2

Question Number : 66 Question Id : 4557343906 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

f:R— Ris a function such that /(0)=1 and forallx.ve R

‘f(-\.“l'+1)=f(1‘)f(__1‘)—f(_1*)—x+2 then %atx=eis

oo RS R 236 f(0)=129dr 56 x.yve R §

‘f(1."1"{'1):f(.‘t')_f[_l‘)*f(_1')*-.1'4"3 wond, X =e 5 j{ Hend
Options :
1. O
» —1
;e

-

el
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Question Number : 67 Question Id : 4557343907 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

.* s .«:-;in(lﬂrg(x2 + 2x+1)]:> (.1:—1—1)2 1

"

dx

dv

+H(x+1l)—=

dx

Question Number : 68 Question Id : 4557343908 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The acute angle between the tangents drawn at the point of intersection (other than the
origin) of the curves x2 =4y and 2 =4x is

=

i

=4x @3 JED POES Hod)

(Soredodhd) 5°7) 58 HDS HdPye

Question Number : 69 Question Id : 4557343909 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

-
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¥ 3
Ifx >0 then — —log(1+x)
1+x

-

1+ x

x>0 ©00a —log(1+x)

Options :
1s less than zero

SE) 08 S8y S rotnod

1s greater than zero

S| 08 8 S S0otnod

L3

1s equal to zero

E’az?ﬁié:; RATHOM S0tN0H

takes all the real values

©d) RS denden 858000k

Question Number : 70 Question Id : 4557343910 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

On the curve v=17. the point at which the tangent line is parallel to the chord joining the
points (—1.—1) and (2. 8). 1s

jr=x3 SE0D e el HOMY) 5G HD)d égdﬁsp,. s Jifow o (—1.-1). (2. 8) DotHhHhos
§0 g% JSrodERS, = Dok

Options :

(1,-1)

(2.8)

-2

]
—
p—

N
I
L

Question Number : 71 Question Id : 4557343911 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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If the petrol burnt in driving a motor boat varies as the cube of the velocity. then the speed
(in knmv/hour) of the boat going against a water flow of C kms/hour so that the quantity of

petrol burnt 1s minimum 1s

2.8 DEHESS SEIEAE Pdy wdhg Voo T o BnE), HNSS0GS5 wlT&os”
08, otk C 8.0 JKod® FD P08 Ao TSNPk PEY LDy BET e

HBSr00 Ed‘ﬁ}gi}éq_% GOG HES K0 (8.90/5045))

Options :
2C
{ 3

S

2

L2

ac
5 D

C
54 4

Question Number : 72 Question Id : 4557343912 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

2
xX—X

Forx<1,. '[JI-_T

dx =

I
X—2
x<1eona. _[ dx =
Jl—;r
Options :
1 > 2 3

—(1-x)2—=(1-x)2-24J1—-x+
3002502l e

4 4 - S
Z(1-x2-2(1=x)2-2J1-x+¢c
3

L2

2 3
?(1—1’)2-2J1-I+C

—
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- 3
- —(1—-x)2(243x)+c

i 15

Question Number : 73 Question Id : 4557343913 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

[

(2sinx+secx)

- dx

"(2sinx+secy)

Options :

-6
1 105

=1
105

)

16
, 105

T =A4(1+ tanx)qs +B(l+tall.1')_6 + C(1+ta11x)_? +k .thenA+B+C=

7 =A(l+tanx )'5 + B(1+tan 1‘}'6 +C(1+tanx )'7f + keopd, A+B+C=

Question Number : 74 Question Id : 4557343914 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

.J"'-’..Tz —1+.T2'J.T2 +4 2
) 7 ' A
- G ( x°+ 4]
Options :

9 1 X 1

_—

e 4
—Tan "—+—+cosh 1;+f

. 8 2 4 2

9 s o ¢ 1

é o o
gTan —+—_+s111h 17+c

2 A 2

L2

(B

16
3

9 logl

I+41 +log
dx

2

g
x+\!x"+4

9

+€

-
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Question Number : 75 Question Id : 4557343915 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

T ; ;
Forn22.let I = [04 tan" xdx and F, =1, +1, 5. Then F,—F, ;=

i
R22E. L= |04 tan” xdx @0, F,=1,+1, » @0 25808, wdvd F,—F, 4=

Options :

|

.

L2

(]

S
it

—
"l
o
e

“—

Question Number : 76 Question Id : 4557343916 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

lim » ,,1 +— 1 +...+ 1,, =
n—»x | 3n~+8n+4 3n +16n+16 15n°

Options :

12
N

[ ]
gcollegedumas
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Question Number : 77 Question Id : 4557343917 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3
_I
0

Options :

3
2

dx =

"
AT —=3x+2

1.

12
O\ | -

11

2
4.-

Question Number : 78 Question Id : 4557343918 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

OABC is a unit square where O is the origin and B= (1. 1). The curves 1 =xand x> =1y
divide the area of the square mto three parts OABO. OBO and OBCO. If a,. a,. a, are the
areas (in sq. units) of these parts respectively, then a; +2a, + 3a; =

OABC 2.8 0579 S50, O Jorodohd) dasw B=(1.1). ¥ =x. 12 =1 S5=en
SO JTergdy OABO. OBO. OBCO @& Sord grrmenn HE8508. & S0 erme

a_

Sarergen (DI 05 EES*) SE[Bm a,. a,. 33@:'*033?:7&., a, +2a,+3a;=

4 64

Question Number : 79 Question Id : 4557343919 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

[ ]
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The differential equation corresponding to the family of parabolas 12 =44 (x + @). where a
1s the parameter. 1s

Options :
=
dav '\ dv
¥ —1| +21-—1+j =0
. \dx, dx
v\ . d
1[—1J —2x2 _y=0
7 \ dI d.f

2 ;
dy ] [ dv ]
| = | +2x| = |-»=0
1 X i 1

e dx _
dv
V= 21‘-(!;:
i X

Question Number : 80 Question Id : 4557343920 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: d 1V 2
The general solution of E +ytanxy =2x+x" tanx

.dT b

(T +yvtanxy=2x+x"tanx @D, T PGS
e

Options :

5

, P X =C€Secx

2
VCOSX =X S€CX+C

t-2

2
VSeCX =X +CCosX

5
V=X +ccosx

Physics
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Number of Questions: 40

Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557343921 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a system. units of mass 1s A kg. length 1s B m and time 1s C s. then the value of 10 N in this
system 1s

L2

10ABC™

[N

4 SA-1B 2

Question Number : 82 Question Id : 4557343922 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : The angle between acceleration and velocity of a body in one dimensional
motion 1s always zero.

Reason (R):  One dimensional motion is along a straight line.

D3yso (A): DEDEB0H K5r50S* GoB 2.8 5N BnE) Scdo HBoIn Sifoe Dy
5’000 JOHYdr HrSgo ().
s*8z00 (R) : QEDBOD K050 HEE0D Tod oS,

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

1 (A). (R) &0 Bodh S¢S0 508050 (R), (A) 8 3085 156

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
, (A). (R) 2 Bo anégéin 570 (R). (A) % R00 D0 5D
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(A) 1s true but (R) 1s false
" (A) 38550 570 (R) ededgan

(A) 1s false but (R) 1s true
A (A) 238530 570 (R) Debgadn

Question Number : 83 Question Id : 4557343923 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A projectile is given an initial velocity of (7 +2;) ms™. The equation of its path is (g =10 ms=)

.8 (8580 Bog), FOFM0 (1 +2)) ms™. wonS T HF JWE6SH (g =10 ms™)

Options :
7
y=2x—5x"
n
5 R0 —5x
|
4y =2x—-5x"
:
2

Question Number : 84 Question Id : 4557343924 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body projected with some velocity at an angle 45° with the horizontal from the origin in
X-Y plane passes through a point at (4. 3) m. Its horizontal range 1s

X-Y dodnes® Sarodothsd ok §&2 ddroddos” 45° §mo E:“?&_:;ég ¥ Fodnros
850 Bobhaxds 5539 (4. 3) m Hochd HowFd, ord §82 JHSrods o°gh

Options :

y 10m

14m

L3

3 1Sm

4 16m

Question Number : 85 Question Id : 4557343925 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A block of mass 10 kg 1s placed on a horizontal frictionless surface and is attached to a
cord which passes over two light frictionless pulleys as shown i the figure. The hanging
block tied to the other end of the cord 1s mitially at rest 2 m above the horizontal floor. If
the hanging block strikes the floor 2 s after the system is released. the weight of the hanging
block 1s (g=10 ms™>)

10 kg (55078 o a8 B3Iy DdBA & J5rods goop &Hh. & Ty HEPdA,
3985 Boddd 63:::30 DM FYHHH) ek 2.8 DI6H Hbos® Srbdinm §had, e
0048 A6 §82 Jdrodd $ords 2 m S IHD %e’.&@‘ @U‘Céoéa@ NG'8 B0
§Hod S50, & S50 SHOS 2 s dthard Bordodd) B o) 88, BurdSd)
63y &0 (g =10 ms™)

10kg k/
J7I/777777777777

Options :

1

-3

[ WS]

4

22.22N
1LIIN
111N

222N

Question Number : 86 Question Id : 4557343926 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A double inclined plane as shown in the figure has fixed horizontal base and smooth faces
with the same angle of inclination of 30°. A block of mass 300 g 1s on one face and 1s
connected by a cord passing over a frictionless pulley to a second block of mass 200 g
kept on another face. The acceleration with which the system of the blocks moves is
% of acceleration due to gravity.

SRS §8e H3rodS gD HHBaA%H &8 aren §'0 30° e Dok $H5) deren e 2.8
) D0oe" Srnd ot God. wf gvoD &) 300 g |85g0°3 o &8 BN 008S
$00p &) 200 g (55078 o 6 530S HEPDBI &8 Ky 0T TG0 §O10. &
B HgdY D0, #4600, MHSE; Se800e F0.

or

(¥

200g 300g

30° 30°

Options :
D

2 10

Question Number : 87 Question Id : 4557343927 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A canon shell fired breaks into two equal parts at its highest point. If one part retraces the
path to the canon with kinetic energy E, and kinetic energy of the second part is E, then

20235 &8 Do Hod T H8Y Dy DoY) S¢ Dok JI7S erSwnenm HBIFoNSE.
E, 182488 2.8 grddn IH800 «8 Srddns® HEoAd D08 Bodd erddn K8xd§
E, 200855

Options :
 E,=15E,
E,=E,
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Question Number : 88 Question Id : 4557343928 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

.th

l] )
11 | "

A uniform chain of mass ‘m’ and length */” 1s on a smooth horizontal table with

of its length 1s hanging from one end of the table. The velocity of the chamn when 1t
completely slips off the table is

‘m’ (@Sgord I SEY He 868 Fend 882 JS5rodE Hobsa S DOD TPV EHS”

—

o
l ;] S S0 wo 2E % S0k @erd G0, 2YD Hod Fendd Fom F05HYE o'

S0

Options :

L2

Question Number : 89 Question Id : 4557343929 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two particles of masses in the ratio 1 : 2 are placed along a vertical line. The lighter particle
1s raised through a height of 9 cm. To raise the centre of mass of the system by 2 cm. the
heavier particle should be

GSgordHen 1:2 JES” Ko Do Swredd ol §&uwon B9 wowd. 3I8S S0

9cm 8 SHS0WD. HPHY (D03 Solso 2 cm 28 2850508, e8RS Seo~q))
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Options :
moved 1.5 cm downward

1 1.5 cm §o&8 8Se®

moved 2 cnupward

. 2cm 8 SGomO
5 a_ TJ

moved 1.5 cmupward

1.5 ecm D8 SSeayd
3

moved 2 cm downward

" 2 cm (S088 S8e©

Question Number : 90 Question Id : 4557343930 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A solid sphere and a ring of same radius roll down an inclined plane without slipping. Both
start from rest from the top of the inclined plane. If the sphere and the ring reach the

bottom of the inclined plane with velocities v, and v, respectively. then — is

“"5

28 girdo o 2.8 HDSAYo 58050 2.8 080 a8 Ten doop FEHoE §obs
(' 3e3237)00. W) O TS0 v&‘;-gs 0O ok Fd-aé_o?geﬁ 00& &G0 [3PEodowron.
o0 $00 D58 woHis BHEHBE A¥o HHBAS» Soswrre Amen SEHM v, 538030

-

. "."'
V, ©008,
‘.

_—

o

w

Options :
, 0.2

2
o
“h

4 0.9

Question Number : 91 Question Id : 4557343931 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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,th

3
A particle 1s executing S.H.M. The time taken for (g] of oscillation from extreme

; ' »
E] of oscillation from

position is ‘X’. Then the time taken for the particle to complete
mean position is
Q8¢ T70eE )8 dodoe® fe S@0, wody R0 06 % 2 J0 §oHIHnH ‘X seos”

I8 BVIB. wonS SrPgDos o Sod > S S0 §oHS5N Fr DS HeY sPo50
3

Question Number : 92 Question Id : 4557343932 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

An object is thrown vertically upwards from the surface of the earth with a velocity x times
the escape velocity on the earth (x < 1), the maximum height to which it rises from the
centre of the earth 1s

(radmus of earth 1s R)

a8 SIPDH ré&Bddeo Hod ALYJIHT D8 Frdo D DoroHSIBTIE x0h (x<1)
2tfod® DHBS &rdd oo Kol wh TV 1D I
(&> argardo R)

Options :

- R(1-x%)
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Question Number : 93 Question Id : 4557343933 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A sphere of mass 2 kg and diameter 4.5 cm 1s attached to the lower end of a steel wire of
2 m length and area of cross section 0.24 » 107 m?. The wire is suspended from 205 cm
high ceiling of a room. When the system is made to oscillate as a simple pendulum. the
sphere just grazes the floor at its lowest position. The velocity of the sphere at the lowest
position 1s

(Young's modulus of steel =2 »x 101 Nm and acceleration due to gravity = 10 ms™)

2 m &6 H8a5» 0.24 x 10° m? aﬁscﬁgﬁq}d dTego Ho a8 &5 & BN Bohs S
2kg 8555078 $38050 4.5 cmargdo Ko wf Aed) SAdomed. &1 205 cm ddre 2.8 KB
D §8y $H08 Jorghodhadod. & 535 o8 oS oo Goso Bowy, A¥o S'of
DENSH Doy 5¢ Fosr JYBIT Soso o, ISNSH Doy 5¢ K¢ Sro
(&89, 050f Measo =2 x 10! Nm $:805» 8&e dedeo = 10 ms™)

Options :
; 10 ms™

12 ms™

L-2

15 ms™!

il

4 18 ms™!

Question Number : 94 Question Id : 4557343934 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A spherical body of density p is floating half immersed in a liquid of density d. If ¢ is the
surface tension of the liquid. then the diameter of the body 1s

p Fodsie a8 Aers d S d o Heo (505" HHS1 65 S50dA 3@@@&. B30
$od5ss 0 wond, SNH agdo

Options :

J 3G

, Ve@p—d)
J 60

, Veg2p—d)
J 4c

, Ve2p—d

J 126
, vE@p—d

Question Number : 95 Question Id : 4557343935 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

As shown in the figure. an equilateral triangle ABC is formed by joining three rods of equal
lengths and D 1s the midpomnt of AB. Coetficient of linear expansion of the material of AB
i1s of; and that of AC and BC 1s o,. If the length DC remains constant for small changes in

temperature. then

D8065° Wrhd Do JSFS e Sordd 5@@@‘ ABC Jdoero|@eirear) Dcrgm
Bed. AB S¢Sy Do D. 8¢ AB Svg B g 58S Hreassn oy §Gen AC Sr8a5» BC
DT BEgargfed Hsdn o), ey GFHE Scdnods DC 246 Q00 & 08,

D
A ® B
|
|
|
|
|

C

Options :
O = 0h
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» Oy = 4(13

-y

3 O =40,
o

{1’1 =2
4 2

Question Number : 96 Question Id : 4557343936 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following List - I with List - II.

List-1 List-11
A) When ice melts mto water I) Volume increases
B) When water changes into steam II) Volume decreases
C) Melting point of ice IMI) Increases with increase of pressure
D) Boiling point of water IV) Decreases with increase i pressure

B0 RaBS HEJE - 10 HEE - I & 2E38B50m.

2838 -1 9¢38 - II
A) S0 ddm E8ASHE N20AT0 B
B) A& =28 $5°080)
C) Hood |BIFSS &Pyl
D) Q& granefds sares

DDA pjrir?éﬁn

S50 OO, DHHHDH

S 827

$He8S0 HBAE, S0

The comrect answer 1s
QOGS JIrHeHo

Options :

A B C D
I I WM W

A B € D
o 1I N I

L2

H

%
J A\ |

o
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Question Number : 97 Question Id : 4557343937 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A cylindrical vessel of uniform cross section consisting of a gas of y = 1.5 1s divided

mto two parts A and B using a piston. Initially the piston 1s kept fixed such that part A has
pressure P and volume 5 V and the part B has pressure 8 P and volume V. If the piston is

let free and the gas 1s allowed to undergo adiabatic process. the final volume of the gas in
part A is

Y = 1.5 o 2.8 5050 868 sﬁacﬁgfﬁt}cﬁén fo 2.8 SpPrsos FEH &8 Sndosos’ A
o805 B =3 Soth grmrenm 520N, grfo A Gng) HdSo P SBohy EHdsroo 5 V.
egriio B G3ns), S0 8P 508050 HS5H8R7e0 Vé&oﬁ@@_m NADT0) B %‘60(‘;"
G0, SNHOSR) VEHT SEO F2050HD Q098 BEaH 20nIGom B3R, arko A
10 Po5ND) DO S B0

Options :

3V

8
="
7 3

Question Number : 98 Question Id : 4557343938 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A diatomic ideal gas is used in Carnot’s engine as working substance. During adiabatic
expansion of the cycle. if the volume of the gas increases from V to 32V then the efficiency

of the engine 1s

.8 5°0) 0o@dne” B1H0Sr SNy B 0350 DETGHNM FTRT . S180%
BE0HS® RE°QE g8 BB K0S ook HoSH0SreSn V Sod 32V E HOAS =
odoEgo S8

Options :
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Question Number : 99 Question Id : 4557343939 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The absolute temperature at which the rms speed of a hydrogen molecule 1s equal to its
escape speed from the Moon’s surface 1s

(radius of Moon 1s R. g 1s acceleration due to gravity on Moon's surface. m 1s mass of
hydrogen molecule and k 1s Boltzmann constant)

TERS @0 O0E), ms S& & HOD GFHS S Sohd &H0E00 Hrod T HeradHS
HES DT[N

(Soighd ergrgdn R, Soghd DH080dn 3 Hds Sdndn g @ wmand BS508 m
50005 £ 8 HorossH k)

Options :

megR

S

1 2k

2mgR

]
o

Question Number : 100 Question Id : 4557343940 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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An object of density 2000 kgm™ is hung from a thin light wire. The fundamental frequency
of the transverse waves in the wire 1s 200 Hz. If the object is immersed in water such that
half of its volume is submerged. then the fundamental frequency of the transverse waves in
the wire 1s

2.8 DK BOBS & Srod 2000 kgm™ o8 Ko a8 5595 Berdbad. &K &dg8
gdomre (@FEDE FS:)Sgo 200 Hz. &5 53090 @0 o 8588700 Qiges* SSMESEAY
&00S%, G 8658 Sdomre @FENE PS50

Options :

1200.0 Hz

—

1732 Hz

]

1100.0 Hz

[ ]

, 141.4 Hz

Question Number : 101 Question Id : 4557343941 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An observer and a source emitting sound of frequency 120 Hz are on the X-axis. The

observer 1s stationary while the source of sound is in motion given by the equation
x = 3 sin 7 (x in metres and 7 in seconds). If the difference between the maximum and

mimimum frequencies of the sound observed by the observer 1s 22 Hz. then the value of ®
1s (Speed of sound in air = 330 ms™)

28 D030%E HH803n 120 Hz S5:dSgos® $d0d 200HBasnhs) &8 adso X-wgon
&6, H0I0BE FL YES® ok HBasw Fyedso x =3 sin o (x Hrdds®, rpgogds”)
DAE60°K5)505000) SO0HHK)H. HOFEE HOO0NS KO $HBaTD AR KA sy
565 Bo 22 Hz 2008 ® Dens (mde* $go $6= 330 ms™)

Options :

33rads™

—

36rads™!

]

20rad s

sl

10 rad g1

collegedunia

—



Question Number : 102 Question Id : 4557343942 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

As shown in the figure. a parallel beam of light incidents on the upper part of a prism of
angle 1.8° and material of refractive index 1.5. The light emerging out from the prism falls
on a concave mirror of radius of curvature 40 cm. The distance of the point from the

principal axis of the mirror where the light rays are focussed after reflection from the
MUITOr 1S

1.8° 8200 500050 HrY 3858 Mo 1.5 fo 2.8 DE DS 2rmrd HLOST BrDS
DGom Jdrods 508 Sdedoso HES0 BoHoh. HPEo ok wirdsd sF0d 40 cm
e argrdan e ol Pirsd Sy HBDHB. (@0 Hod HorHdHo BohHI
g 6y BFaso $HH0& 5708 §6wren FenHEI HokhY drdo

—2Nn1L8°

5= R=

-

:‘.ué,.;_fsﬁm _
g=519 Concave Miuror

D50 5620

Options :

| 4.76 cm

—

1.57 mm

-3

3.14 mm

g

4 6.28 mm

Question Number : 103 Question Id : 4557343943 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A microscope has an objective of aperture 8 mm and focal length of 5 cm. The minimum
separation between two objects to be just resolved by the microscope is

(Wavelength of light used = 5500 A)

&8 JorfB0)0 8 mm Sod So803n 5 em TErgossdn e 3By Ststd) §ON &obd. &
Jr5EBRNE" $5)F:80054IN Dot SHH Sy EASEr 60

(&5BPADS 5708 SBorBggo = 5500 A)

Options : ' ” d .
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2.2 um

3.4um

L-2

4.2um

[N

| 3.6 um

Question Number : 104 Question Id : 4557343944 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The electric field due to a short electric dipole at a distance ‘r’ on the axial line from its

mud point 1s X times the electric field at a distance 2r on the equitorial line from the mid
point of the dipole. Then the value of x 1s

w8 ¢ DBgS S0 BN wEA%H Bp D My DoY) H0d ‘T’ Brdoss® Ko 2
£ 3§ Ko Hgs BiFo, T DFgewoe B D NG HoY $0d 2r Srdods® o ol
£05H 3¢ e DS Erd8 X By wond X Jend

Options :

1 16

9

..'J

Question Number : 105 Question Id : 4557343945 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A point charge ‘q’ is placed at origin. Let E 2 EB and EC be the electric fields at three

points A(1. 2. 3). B(1. 1. —1) and C(2. 2. 2) respectively due to the charge ‘q’. Then the
relation between them 1s

08 Dok s3ESn ‘q° Sore HoY 3§ 5. & «ifo Sos A(l. 2. 3), B(1. 1.-1)
558050 C(2, 2. 2) DohIo 5§ DogS Slren SEBr .]:ZA. Ep 30805 .Ec @005 T°¢3
g D00E0o

—

a) E,lE;
b) E,llEc
¢) [Eg|=4[E|
d) |Ep|=8[Ec]
ot

a. d are correct

, @ 300030 d e S8

b. d are correct

5 b $50003n d e H35D

a. ¢ are correct

. aNdosn ¢ ew Eﬁfgéé}

b. ¢ are correct

4 D050 ¢ oo JJHD

Question Number : 106 Question Id : 4557343946 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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An electric dipole consists of two particles each of mass 1 kg separated by 1 m carrying
charges 1uC and —1uC respectively. It 1s in equilibrium in a uniform electric field of
2x10%Vm. If it is deflected by a small angle 2°. minimum time taken by it to come back
again to the mean position is (in seconds)

w8 DgS BEPSN w88 ¢ 1 kg (8550780 §04, 1 m Jddorr o Dok =¥ Swrod
$OA Hob. 785D wdren 5603 1PC H80%0 —1PC. DEdgS ¥ &S 2x10% V! Ke
D888 DgS BSSNS” & BEPISN SHHERPES® K)B. S BgGHIR) HgeyFiadn 2°
©H5GS0 VoW, ©b Do SrEgos Fod) DL HY §IS oo (VEHOS)

[
(B
A

4 4T

Question Number : 107 Question Id : 4557343947 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

One plate of a parallel plate capacitor is connected to a spring as shown in the figure. The

area of each plate of the capacitor 1s A and the distance between the plates 1s d when the
battery 1s not connected and the spring 1s unstretched. After connecting the battery. in the

steady state. the distance between the plates 1s 0.75d. then the force constant of the spring
1S

S8rods Sose TFVLS DNE), .8 JOEH HLoS” Frad IFomr w8 Yo% DT
Sl g 2.5 8 D08 Irego A SHOoin arghd SoddYHd dode gy drdo d
508050 @)off FHOHHLEBG. ergtod DD Sod Josd J8S® Hose Ny Brdo
0.75d ®008 [©)ofi G30F), OYT°0E0 |

©yoh >HHE
i Spring |Capacitur
Vv
| |
| |
Battery
ergtod
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Question Number : 108 Question Id : 4557343948 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two cells Pand Q each of emf 2.16 V are connected in series with a resistor of 19.6 ). An
ideal voltmeter reads 2 V when connected across the cell P and 1.92 V when connected
across the cell Q. The ratio of the internal resistances of the cells P and Q 1s

2.89,8) ¢ 2.16 V emf fo Bockh Hodren P 58c3n Q oo @Hhe” 19.6 Q d5°¢Eos"
0F°A0BOTTON. 2.8 BEG) JTSIrLE LI P IG EHDIH 2V &, Hobrdn Q 5
§ODSHE 1.92V S Sor0Bi. Do odren P Sodoin Qo wodd)dore dd

Options :
{: i

e I

faJ

|

Question Number : 109 Question Id : 4557343949 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A resistor has bands with colours orange. green. silver and gold. Then the resistance of the
resistor is

2.8 DFEE50 D T80z, w&HBS), Bod 58050 WOty Sord Hen S0P, wons s HE EE0

BE), D8 BB e
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Options :

| (350 = 5) mQ

(350 17.5) mQ

L2

(35 £ 5%) mQ

(250 = 5%) mQ2

Question Number : 110 Question Id : 4557343950 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A beam of protons enters a uniform magnetic field of 0.314 T with a velocity 4<10° ms™
in a direction making an angle 60° with the direction of the magnetic field. The path of the

beam 1s (mass of proton = 1.6 x 107" kg)

1

0314 T &P Ko 868 wohian, of FSS0S V8 (Fird §daHonsn 4x10° ms™ 3K08°
2S6ES" 60° o BHr PHIBoDSH. = Houdn HGS5» (erd BSg0°8 = 1.6 x 107 kg)
Options :

a circle of radius 0.2 m

2 07 e é
) 0.2 m argargdn fe H)Ehn

a straight line

, JE¢0P

a helix with a pitch 4 cm

[B0ear0885%0 4 cm e DD YDBW
3.

a helix with a pitch 4 mm

|BIocorod850 4 mm o S350
4.

Question Number : 111 Question Id : 4557343951 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The magnetic field due to a current carrying loop of radius 3 cm at a point on its axis at a

distance of 4 cm from its centre 1s 54 U T. Then the value of the magnetic field at the centre
of the loop 1s

3 cm ﬁg@*go o DS Pararang) w8 JyFsd &mﬁy&g Sof o wfon o Sogo
53084 4 cm Srdoes® &) Dot 3§ wohaof §Fo 54 uT wond &rfdHe) oo $G
©woha) 08 o Jend

Options :

 250uT
, 150uT

. TSuT

, 125)T

Question Number : 112 Question Id : 4557343952 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A short bar magnet of magnetic moment 0.21 Am? is placed with its axis perpendicular to
the direction of the horizontal component of the Earth’s magnetic field. The distance of the
point on the axis of the magnet from the centre of the magnet where the resultant magnetic
field 1s inclined at 45° with the horizontal component of the Earth’s field direction 1s

(Horizontal component of the Earth's magnetic field =4.2 x 10 T)

0.21 Am? ©O0I, 08 @rdoso e &8 &rd) S0 oDTY 080 WEo g ©oHI 0 B8 8
$Srod6 woif BEB LoworT 08 DG VKT, HOE woHTY, 0 o, & wasH) o
B 882 S5rodd wodod” 45° w0 T woha o8 =50 fo HoHHE woham o
Solo S0d He Brdo

(g5 w0%d) 08 B §82 H3r088 wo¥o = 4.2 x 107 T)

Options :
y 12 em

3 20 cm

3 5cm
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4 10 cm

Question Number : 113 Question Id : 4557343953 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The length of a wire required to make a solenoid of length */” and self induction *L’is

‘L’ Sgof0 @880, T >EY Ao FOTonsH S0ird Ddnbd 530S &1 FE)

Options :

4nL]

Ho

L/
4,

2

Question Number : 114 Question Id : 4557343954 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An inductor and a resistor are connected in series to an ac source. The current in the circuit

175
. g

1s 500 mA if the applied ac voltage 1s .S\E V at a frequency of Hz and the current in

995

the circuit 1s 400 mA if the same ac voltage at a frequency of 5 Hz is applied. The values

of the inductance and the resistance are respectively

175
4

V2 V D5r088 FP2d ©55805BDEDY% Soohost g Bardro 500 mA 508050

2.8 (205°Q) 10050 &.8 AFF5 Q) 2.8 I57088 255708 FIS” EOJ 0.

Hz 2rssdgotio

225
1 4
400 mA. (880 So8asn V6o Jenden SEdm

Hz 2r&:)dgo o ©08 J5°048 S'PED 29505805 B0SIYE S003065* HEES Barro
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Options :

60mH. 71 Q

=

J60 mH. 71 Q

J60 mH. 71 Q

o ]

(]

, 60mH. /71 Q

Question Number : 115 Question Id : 4557343955 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electromagnetic wave of frequency 2 MHz propagates from vacuum to a non-magnetic
medium of relative permuttivity 9. Then its wavelength

2 MHz &r&sdgan e .8 dogdoiaof S6oidn &roga0 ok o8 20830
9 Ko ©S0%a7) 08 IriEoS A8 HH00DSH. @K T 50038 gdoo.

Options :
Increases by 100 m

100 m 55

Increases by S0 m
50 m 80

12

Decreases by 50 m

50m éﬁgé&

Decreases by 100 m

100 m éﬁg&ﬁ}

Question Number : 116 Question Id : 4557343956 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The figure shows the vanation of photocurrent (1) with anode potential (V) for three different
radiations. Let I, . I and I, be the mntensities and f, . f;, and f. be the frequencies for the
curves a. b and c respectively. Then

HE0S* S TG DEGTed 5708 DS Parerls (1) Hdokn eI SBYHS (V) o
Gy So0f0 SrBalSs. a. b SHdosn ¢ SErod Ho20HONS 8iSden 5K L. I
208080 L. PSedargen SHdm f;. f $o8a8» f won3

1

Options :

f,=f andI =1

f=fandI =1
=t St L=T,

£ ol anid T =%
3 1fa = fb blafonhh ‘Ia :Ib

fb :ft alld Ib = I'l.'.‘
. f.=£ 50ahs k=T,

Question Number : 117 Question Id : 4557343957 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A stationary hydrogen atom undergoes a transition from n =5 to n=4. Recoil speed of the
atom 1s (R = Rydberg constant. h = Planck’s constant. m = mass of the proton).

D708 &) IR D5, n=755008 n=48 JogHwo Bokobh. HESTNYH
©agadso D08 S& (R=65&3§ %moéo, h= 0§ ?{goﬁoéof m = (@00 |B050°8)

Options :
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Rh
m

Om

L2

9Rh
400m

sl

7Rh
4 400

400Rh

Question Number : 118 Question Id : 4557343958 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The half life of zggU against of - decay is 13.86 < 10'°s. The activity of 1 g sample of EggU 1S

0 - 0508 BIU o8 2248 smo0 13.86 x 1019s. 1 g B3U S8 Bng), §osrde

ot

Options :

1.26
1

1.26

k-2

02

10% s

o 10—1 S_l

¢ 104 g1

1074571

Yl

Question Number : 119 Question Id : 4557343959 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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An npn transistor 1s connected in common emitter configuration as shown in the figure. If
the collector current 1s 5 mA. Vgg = 0.6 V. Vg = 3 V and common emitter current
amplification factor 1s 50. then the values of R; and R, are respectively

&8 npn ErHs HoSt Srad Hforr GINE SIS ITgHoS” Sodadod. WEBD
a0 SmA, VBg=0.6 V. Vcg =3 V5r008» &)@ & ord @ar 5) s°68o 50 2000,
R; 508050 Ry Henden SHSm

R, E 5

[B¥)

Al

Options :

1kQ. 74kQ

74KQ. 1kQ

L2

37kQ.2kQ

4 2kQ . 37kQ

Question Number : 120 Question Id : 4557343960 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The maximum distance between the transmitting and receiving TV towers is 65 km. If the
ratio of the heights of the TV transmitting tower to receiving tower is 36 : 49. the heights
of the transmitting and receiving towers respectively are (Radius of earth 6400 km)

G, g TV L6 Sodg 05 dordo 65 km. s, (8 (TV) L6 Jdhe s
36 : 49 w008 BT, s LSGL Iden SHIM (g agargSn 6400 km)

Options :
y S1.2m. 80 m

3 70.3m. 95.7m
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3 30m. 65m

4 25m.75m

Chemistry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557343961 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The wavelength corresponding to electronic transition between two orbits of hydrogen
" g . x * " ® ® -j-li- o
atom 1s 912A. The wavelength (1n A) for the same electronic transition in L1™ 1s

TE B HBBr0HS” B0k S50 D¢y JOFS H05FSH Sowofohs S8oHaE go 912A.
Li*" & «8 5834508 #6035 50 (A o)

Options :

L 101.3

202.6

12

303.9

4 50.65

Question Number : 122 Question Id : 4557343962 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of lowest energy i terms of wave numbers of Balmer and Lyman series of lines
of atomic spectrum of hydrogen is

TERS 0S5 3¢HL0% Dok e Hrdosn B @ Opo wdgoy €8 NS

d8off Sopge Hom

Options :

| 5:27
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Question Number : 123 Question Id : 4557343963 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Which of the following represents the correct order of ionic radi?

& 808 o°¢365°, HBFS wairdE argrgre ST rNoHIs 26?

Options :

4 T+ - + M —
| AP">Mg" >Na">0"">F

12

Question Number : 124 Question Id : 4557343964 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The species. which has the bond order same as that of F, molecule is

F, @002 220583008 J308 oo e 28

Question Number : 125 Question Id : 4557343965 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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The hybridisation of atom ‘X" with atomic number 27 in [XF 6]3' 1S

[XFG]B‘ S HoSore Doyg 27 Ho X HESrd S0808800

Question Number : 126 Question Id : 4557343966 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The temperature of 4.0 moles of a gas occupying Sdm> at 3.32 bar is
(R =0.083 bar dm’ K™ mol ™)

3.32 bar H&S50 38 4.0 drde a7as0d 5dm’ $0558572005 wIED0NG, B Jaing
&&§ (R=0.083 bar dm’ K" mol ™)

Options :
L 25K

50K

=

Question Number : 127 Question Id : 4557343967 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

To 50 mL of 0.1 N Na,CO, solution 150 mL of water is added. What is the molarity of
resultant solution?

50 mL 0.1 N Na,CO, @508 150 mL &5 936, DA @S0 3rerdi Jos?

Options :
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Question Number : 128 Question Id : 4557343968 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Match the following
List]

A) Atconstant volume the change mn internal
energy of a system

B) Isothermal irreversible change

() Isothermal reversible change
D) Adiabatic change

& §08 A0 28 HBrHA

erfia |

A) P8 DIH0Irmo G Hg5H woLdE 85
oy

S

B) ®3ry @E’ngba’néﬁo‘i} S8
Q) 37y @ Sdon 578
D) b@ﬁ‘@s 360

The correct answer 1s
D08 JArprHo

Options :

I)
II)
)
V)

V)

28

V)

ListII
‘ Vi

-

1

W =-2.303nRT log

q, =AU
W= _Pexﬁrf = Vf)

AU=AH-AnRT

erda I
\Y/;
V:

1

W =-2.303nRT log

Wa s = AU
e

q, =AU
W=—P,(V,-V)
AU=AH-AnRT

collegedunia

—



2w

]

I

A
I

H 1

2 |

< |

r

= 10

=Hl@

ol

C
I

<k "IC

H IO

D
I

Question Number : 129 Question Id : 4557343969 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The pH of a buffer solution formed by mixing 30 mL of 0.1 MNH,OH and 30 mL of 1 M

NH,Cl solutions 1s 8.6. The pKy, of NH,OH is

30 mL 0.1 M NH,OH. 30 mL 1 M NH,CI grédssod 905D % J6\&S 256 @rad=o

pH 8.6 @028, NHyOH 308, pKyp Hendd

Options :

.54

7 4.4

Question Number : 130 Question Id : 4557343970 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The solubility products of three sparingly soluble salts AB. A,B and AB; are respectively
4.0x107%% 3.2x107 and 2.7x107>!. The increasing order of their solubility is

S weoy ESdohd o AB, A;B $5005n AB; odwre @rdhdcher vwres $63m

4.0x1072°, 3.2x107M 358080 2.7x107 88 rSBasd HBR ES0

Options :

, AB<AB3;<A,B
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AB;<AB<A,B

g
-y

. A;B<AB;<AB

, AB<=AB<AB,

Question Number : 131 Question Id : 4557343971 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following

a) Zn reacts with dilute HCI and aqueous NaOH solution separately and liberates
hydrogen

b) Tiand Zr form interstitial hydrides

¢) The viscosity of H,O is more than the viscosity of D,O

Bod a743e5° JS0GHE DI Hodod

a) ZndO35 HCl $8050 NaOH 20@@S0od DAIET 365 Tod @ ndd ddde
D030

b) TiSodosn Zren wonodo ¥ ?@5@5} Ddﬁdd}ﬁ)

¢) H,0d@»ns, ?@Q& D,O Eﬁga 508 )80 S

Options :
| a,b.c

da.C

L2

g a.b

4 b.C

Question Number : 132 Question Id : 4557343972 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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What are X. Y and Z in the following reactions?
& Boh S6ge5° X.Y 508050 Z e 23?

' A

CaCO; ——CO,+X

X+H,0——>Y

Y+Cl,—Z

X X Z
Options :
e Ca(OH), CaOCl,-H,0
, Cao Ca(OCl), Ca(OH),
, Ca(OCI), Ca(OH), Ca0
, Ca(OH), Ca0 Ca(OCl),

Question Number : 133 Question Id : 4557343973 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct set of 13th group elements which do not form amphoteric oxides

Bggerd wBEosH INOGSD 138 ird Sreste 508 HiosSod

Options :

L B.In. Tl

| B.AlLGa

L2

AL Ga.Tl

ed

. AlLTlLIn

Question Number : 134 Question Id : 4557343974 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Identify X. Y and Z in the following reaction

£

& §od S6ge5” X, Y 508050 Z o ool

2CH;Cl+ X —— > Z
X 4 A
Options :
1 C N1 (CH;), S1(OH),
| Si Zn (CH,), SiCl,
, HO Si (CH,), Si (OH),

Question Number : 135 Question Id : 4557343975 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following is not a greenhouse gas?

§0d TBS* 26 FOSHYT 05D TE?

Options :

| CO,

O;

1

3 CH,y

4. N

Question Number : 136 Question Id : 4557343976 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The order of priority of the following functional groups in IUPAC method of nanung organic

compounds 1s

TUPAC 348¢° 8618 5308 °5:8620065° (80d Hanoh ddrdte @rarsgd $do

[ )

=0 -NH, -CN -COOR
(a) (b) (¢) (d)

Options :

lrb.a.cl,c

’ c.d.b.a

j d.c.a.b

4 a.c.d.b

Question Number : 137 Question Id : 4557343977 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
What are X. Y and Z in the following reations?

Bob SEgoes® X, Y 08050 Zen 2D?

o e Kolbf's'EIect_gglysis
CH;—CH,—~COONa—X 3y TRONEE® 5.0
X X L

Options :

|' © &
1 NaOH +CaO/A CH;CH,CH,CH; CH;CH,COONa

e &
. M0203 C2H6 CH3CH2C0 O Na
e &

. NaOH + CaO/A C,Hg CH3;COONa
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Q@ 6
;. (CH;CO0),Mn/A C;Hg CH;CH,COONa

Question Number : 138 Question Id : 4557343978 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following compounds will not show geometrical isomerism?

fTos”t 26 g8 TE)god @EE8)os&?

5
=

Bod Had

Options :
prop-2-enoic acid

&¥D-2-63"008 w50

2-butene

2—&}?5655

L2

2-methyl-2-butenoic acid

2-.?.13@6—2-2.}38555‘0135 2530

3-methyl-2-pentenoic acid

3-03S5-2-noiTons =0

Question Number : 139 Question Id : 4557343979 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A compound 1s formed by X and Y elements. Atoms of Y (anions) form hcp lattice. Atoms
of X (cations) are in some octahedral holes. The formula of the compound 1s XY ;. What 1s

the fraction of octahedral holes unoccupied by X?

2.8 :5535%%533 X H50805n YShrosos I6E0s. YHssranden (s505r5) heparos )
D00 wron. X HESremden (57005rS) Q) sgirildS Sogros® eranon. S30@sSn
o XY; XBE sEodadd sgaridd Sogre gridod?

Options :

D | ==

o | 19

13
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Question Number : 140 Question Id : 4557343980 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At T(K). the vapour pressure of pure benzene 1s 0.85 bar. A non-volatile. non-electrolyte
substance weighing 0.5 g when added to 39 g of benzene. the vapour pressure of the solution
is 0.845 bar. The molar mass (in g mol™!) of the substance is

T(K) 38 %4 Do EPE'JQEC@FSD 0.85 bar. 0.5 g meriyRe, ©ddgs JIag Slagelelit
39 g BoESH ndH G (S0 w;’:gﬁacﬁ;ﬁo 0.845 bar. & Hdo DwE), Arers
B550°8 (g mol™! ee5%)

-3
(B8]
~]
o

4 169

Question Number : 141 Question Id : 4557343981 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

0.1 m solution each of sodium sulphate. urea and sodium chloride are taken. The correct
ratio of elevation of boiling point of these solutions 1s

F&o%0 E’::EJ‘JE.’:T, 0578057 508050 FEAHa0 §086 @86 0.1 m Fdwres 08T, &

%
ErSeTre eSS TE Gdde D058 NG

Options :

. 1:1:1

37122

L3
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Question Number : 142 Question Id : 4557343982 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Using the standard electrode potentials given below identify the correct statements from
the following

Fe’" +2¢”—» Fe: E°= —0.44V

Cu?t +2¢ — 3 Cu: E°= +0.34V

Ag" +e — Ag: E°= +0.80V

a)  Copper can displace iron from FeSO, solution
b) Ironcan displace copper from CuSO, solution
¢) Silver can displace copper from CuSO, solution

d) Iron can displace silver from AgNO; solution
B0 QSg&S EHhr Qﬂgé FBY0HSE SHDATA0HED S0F@rS HSGed KHGowsHdm
Fe”" +2¢” — > Fe:E°= —0.44V

Cu’" +2¢"— Cu: E°= +0.34V

Agt +e — 5 Ag: E°= +0.80V

a) 596, FeSO, prs=o S0 0838 FdEiodo Dot

b) @83, CuSO, ESm0 $00 57H6& FdEloFo Bosn

c) Qexd, (Fok) CuSO, TS0 S0 575865 FSEiodo Basndd
d) 263, AgNO; @@H00 08 vegsso rdefodo D308

[
=
L]

, b.d

a.d

Question Number : 143 Question Id : 4557343983 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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At T(K) if the rate constant for a zero order reaction is 2.5x10~> Ms™!. the time required
for the mitial concentration of reactant. R to fall from 0.10 M to 0.075 M at the same
temperature in seconds 1s

T(K) 38 J08) Esr08 ©583 [l 5% ?&;o'-oéo 2.5x10~° Ms ' o0, =8 s 5§ Sodrasso,
R esogfmegs 0.10 M 508 0.075 M 8 H3FS5Lrd8 HPs oo Dsodes®

Options :
25

1. —

L2
h

Question Number : 144 Question Id : 4557343984 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The temperature above which. formation of micelles takes place is called

& SIS $08 whE SIS 3§ SrED M5 IGEE 0. & SAHED 00T 67
Options :
Boyle’s temperature

" MOS0 é%@ﬂﬁ

Kraft temperature

Critical temperature

084 & Bl
3 ® ™

Inversion temperature
1 QST &S

Question Number : 145 Question Id : 4557343985 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The method used for producing semiconductor grade metals of high purity is

©fE HHE o sfairs @D S'Fod FodmIs S5Brhod HEE

Options :
Poling

Electrolysis
DEgS DFHhz0B0

L2

Zone refining
Sode FES0

(]

Vapour phase refining

; wea)) @Sy F°6%0

Question Number : 146 Question Id : 4557343986 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The element X on reaction with conc. HNO; forms two acidic oxides A and B of different
shapes. Element Z on reaction with conc. H,SO, forms two acidic oxides A and D of
different shapes. What are X and Z?

X ol Soresdn me¢ HNO3 & S65S70h ) esgyden fo A, Bed 3ok s 5180
QBN Z 85 Soressn mEd H)SO48" S655708 Q) siyden Ao A, D« Bodk s
s5HEodH 2. X. Zen I3?

Options :

B

S.Cu

L-2

C.S

G 1

Question Number : 147 Question Id : 4557343987 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Identity the correct statement from the following

Bo& a°E3e5° JBBGS DIGad HrBowadmn

Options :
03. SO, molecules have different shapes

1 O;. SO, vy HF) s8yHOI 58 &0otrron

The molecular formula of pyrosulphuric acid 1s H,S,04

690508 By wmodrder HyS)0g

i-2

In the presence of moisture. SO, acts as an oxidizing agent
35 J0FosS* SO, 88D HIDOND

V5,05 acts as catalyst in contact process

DYoRE8eS* V)05 & @888 H0B0508
T - Ln-r

Question Number : 148 Question Id : 4557343988 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the reaction in which monobasic and dibasic acids are formed

D850, B(Fd sSren IO 65 Ko

Options :

-2

NGP_SOS +HEO+C]2 —

, SO, +2H,0+Ch—

Question Number : 149 Question Id : 4557343989 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Catalyst used in the manufacture of high density polythene is

©HE Fod FDHS SHBS® GHDrhod & B\080

Options :

1 M].Oz

505

L-2

, TiCl, & (C,Hy);Al

PdCl,

Question Number : 150 Question Id : 4557343990 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following
a) Eu?"and Yb”" are reducing agents

b) The electronic configuration of Pr’™ is [Xe] 4f°
¢) Aqueous solution of LaClj 1s colourless.

Boh 783e5° JB8GNS 3G HBoErHM
a) Eu?". YbZ" en §0586=00en
b) Pr’* @wg Jogs dagdo [Xe] 4

¢c) LaCljze@sseds o ok

Options :
1 a. b. C

a.c

L2

;3 a.b

4 b.c

Question Number : 151 Question Id : 4557343991 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The polydispersity index of a polymer containing 10 molecules with molecular mass

1.0%10% and 10 molecules with molecular mass 1.0+ 10° is approximately

2.8 FONGS” ww |BS5g0°8 1.0~ 10% e> woden 10 500050 w0 (803 1.0x10° Ko

v 10 &5, s FO56 FO I

Options :

| 1.67

0.59

-2

4 0.83

& Q08 DT

Question Number : 152 Question Id : 4557343992 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

B — D — () — Fructofuranose is

B—D-(-) - @§Irgdsad s

Options :
HOH:C- CH,OH
H HO
H OH
OH H
1.
H C'HEOH
H H
HOH_:_.C' OH
OH OH

L2

-

—
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H HO
H CH,OH
OH H
3
H 0 OH
OH H
HOH,C CH,OH
H OH
4.

Question Number : 153 Question Id : 4557343993 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Shape of the receptor changes after attachment of chemical messenger

Reason(R): Receptor does not regain original shape after removal of chemical
messenger

Ao (A): 00S T8 arerso wddy) &) ddhard (rirEo s5rdo rdHdod

s d0 (R): Srodd Jdrard dirso HHO IPTFond SHhard (rirso 80h &9
VSO oS

The correct answer 1s
STeTon VRS mIZS Y

Options :
(A) and (R) are correct and (R) is the correct explanation of (A)

1 (A) 508050 (R) &0 Bodsr 585 5H8a%n (A) & (R) 588 D58

(A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 08050 (R) @0 Bodor 585D 570 (A) & (R) 508 D580 55

(A) 1s correct but (R) is not correct

(A) 5358 50 (R) 5358 576
3.
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(A) 1s not correct but (R) 1s correct

, (A) 53386 56 0 (R) 5358

a

Question Number : 154 Question Id : 4557343994 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify chiral molecules from the following
Sob a°8365° 866 sy KHBodod

C,H; CH;, C,H,

a b C d

Options :

| a.C

b.c.d

Lo

b.c

, b.d

Question Number : 155 Question Id : 4557343995 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Isopropyl benzene on aenal oxidation followed by acid hydrolysis of the resulting compound
yields

[~

RS BoESK M HHoEoS* 1§ EE0TION, KBS HAFTA) = Sovgd =) 2o

F-a

Options :

 (CHy), CO. CeHs—CgHs

. (CH3), CO. CgH;5CH;

 (CH3),CO. CeH;OH
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, (CH;), CHOH. C¢HCH;

Question Number : 156 Question Id : 4557343996 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Reimer-Tiemann reaction mnvolves the formation of X from phenol through the mtermediate
Y. Whatare X and Y?

85:5-83508 S65e* DTS $r0& Yeod Soigho oo X 26ydr%r08. X 58050 Yen I9?

X ¥
Options :

9@ if
1 CHO CHCl,
; o ; 5
CHO CHCl,

oH T b
COOH CCl
L
O i%
CHO ccly
4.

Question Number : 157 Question Id : 4557343997 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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What are X and Y in the following reaction sequence?

§08 HorgESr0e” X 58050 Yen 29?

i .HB?’ j{g 5 1_ JY r
propene > A - »B 2 10 >}

&F0S F& L45

[

Options :

L2

5

Question Number : 158 Question Id : 4557343998 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The hydrogen atom bonded to the carbon designated by which number in

4 3 2 1
CH3 —CH2 —CH2 —CHO iS most ﬂCidiC?

4 3 2 1
CH; —-CH,; —CH, —CHO &° 2 J03g§" Srdodadd 5608 20883 @ as

&)
DOITeD) wELHE NS FAN G0onoh?

Options :
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|
2

Question Number : 159 Question Id : 4557343999 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The order of strengths of the following caboxylic acids 1s
$08 50§98 wsdre were EHH0

a) CH;-CH,-COOH
b) CH;—COOH

¢) CgH;—COOH

d) C4H;—CH,COOH

Options :
yc>d>b>a

Lo
(="
‘V'
<
Y,
m
\/
]

Question Number : 160 Question Id : 4557344000 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are A. B and C 1n the following reaction?

0B $8ges* A. B SrBasn Cen S)?

Arene diazonium fluoroborate — N2102/Cu sy A+B+C
D68 B0DHEVoHD PFE'H0ES
A B C
Options :
ArN=NAr N, NaBE,
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